Which three lengths could be the lengths of the sides of a triangle?

10 cm, 15 cm, 24 cm

12cm, 5cm, 17 cm

9cm, 22cm, 11 cm

21 cm,7cm, 6 cm
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Two sides of a triangle have lengths 4 yd and 7 yd. Describe the possible lengths of the third side.
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Use the three inequalities, which must be true based on the sides
of the triangle, to write your answer
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If AB = 11, BC = 16, and CA = 14, list the angles of AABC in order from smallest to largest.
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List the angles of triangle ABC from smallestto largest.
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Solve each proportion
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Solve for x
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Look at the figure. Find y.
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Q is equidistant from the sides of £TSR. Find the value of x.
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Solve for x
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